WL AR H=5. Om (#4114 L)

REES 3—N—=5.0

300
60,
[
[=3
&
= BER
(BEF)
8 N 2
gl= 7 75 = o
LO)| © u& ]
=
218
S =
& ook
7,350
[E R EC 7 X
. 5, 350
D166300
4 :
=
(=4
[l g
IL 1 g
o

1

Qd D25@300 D25@300

S=1:100

= CTEEERR A
HIE HE
;'A

D16@300

60
D25@300 ‘ D25@300

3,900

]

=

D13@300] |{D16@300

BEH 4

1. #fit 73 : 100kN/mi
2. T OEMABES : 16kN/ni

3 NEBEEIRA - 20° - - - EEL - i
4. #%EN0 - - - BEL

20kN/mi = - - XiFih R
5. 875 - SD295A
6. IVhY- P DEXETELHERRRE - 21N/mif
1.7k#kF - @75 (14 FTRALE/3m)
8. LEHIE : 10kN/mi
9. 7rVAfI & : 1. OkN/m
(BERXEHEMASEH ST Tm)
X TBEOBKBE LTEKT Y MERT
XEF O [FHHRY TERET




